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A pen is sold at 20% off. The discounted price is $20.
What is the original price of the pen?
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A. $25
B. $30

C. $10
D. $15 I
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A road is 1800 meters long, and 15 people can
complete the maintenance project in 12 days. If

there are 5 more people, how many days can it be
completed earlier?

A. 5

B. 4

C.3
@ D. 2 %
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An iron ball is put into a cube box with a side length of

10cm, what is the longest radius of the ball?

A. 20 cm

B. 10cm
C. 5cm %

@ D. 2cm
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A. 18.5
B. 19
C. 20.5
. D. 21
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1. A
2. C
3.C
4. B
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